
Pre-Calculus - Honors

Homework#78
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14) x=l-21, y=2*31

15) x=(ll4rt, y=f

Y=1-t

Lesson 78

3"d Edition
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Pre-Calculus - Honors

20) 1=lt-11, y=t+2

Lesson 78
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2l) x=3'cosO, y=3sinO
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35) All the gnophs rcsnlt in o line rith ir y-irfercept of I qrd o slope of 2. Whot
differs is the domoin.

o) x = t ond Y = ?t + I hos on upes?ri6ted donoin.

b) x = co3 e orrd y = 2 cos I t I tlos atdomoin -1 < x < 1.

c) x = e-t qnd y = ?e-t + I has o domoin x >,O.

d) x = et ord y = ?et + I hos o donoin x > O os well.
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